SAS

Swing Gate

Parts for Latch Bracket
PN 141394

AJ0LS3AIT

)
m
h)
>
()
m
=
m
<
-
)
>
)
-
(7]

82 ‘ I \yww.ricelake.com | Phone: 800-472-6703
RICE LAKIE /50 5007:2015 Accredited Company ©2024 Rice Lake Weighing Systems 1/24 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.



SAS

Swing Gate

Part Number/Price

ltem # Part # Description

1 170643 Lower hinge mount weldment

2 170651 Strike plate

3 168177 Gate lift off stop SAS

4 14748 RHSN bolt 0.375-16 x 3 x 1-N-STL ZP

5 163466 Carriage bolt, 3/8-16NC X 2.75in

6 15159 Washer, lock 3/8 regular helical spring steel zinc plated
7 14656 Nut, 3/8-16 NC hex steel zinc plated

8 172458 Swing gate panel SAS

9 81427 Wide FW 0.25-STL ZP

10 15148 Washer, lock 1/4 regular helical spring SST
11 14641 Nut, 1/4-20 hex zinc

12 173644 RHSN bolt 0.25-20 x 2.5 x 2.5-N-STL ZP
13 21938 Wide FW 0.375-STL ZP

14 170984 Swing gate weldment universal

15 163215 Hinge bushing

16 150820 Eye bolt, 3/8-16 NC x 3in zinc plated

17 171355 Latch pull cable, SAS

18 171340 3/8-16 J bolt

19 127013 Bolt 0.3750-16 x 3 x 1-N-ZnPISTL grade 5
20 126967 Link, quick 5/16in

21 141394 Latch assembly

22 70339 Grease zerk

23 208638 Eye bolt, SST, 5/16-18 x 4

24 131702 Spring, compression

25 203478 Latch pin

An ISO 9001:2015 Accredited Company ©2024 Rice Lake Weighing Systems 1/24 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

www.ricelake.com | Phone: 800-472-6703

LIVESTOCK

RICE LAKE | 33

(%2
-
<
o
-
=
L
=
L
)
<<
—l
o
LU
o




